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Sr Questions Answers Choice

1

Identify the error

The smoking of cigarettes being injurious to nonsmokers is rapidly becoming a major
concern of public health officials

A. The smoking of cigarettes being
injurious to nonsmokers is
B. Cigarette smoking being injurious
to nonsmokers is
C. The fact that cigarette smoking is
injurious to nonsmokers are
D. It being injurious to nonsmokers
cigarette smoking is
E. The fact that cigarette smoking is
injurious to nonsmokers is

2

Identify the error

I have nothing to do with his as he is a liar

A. I have nothing to do with him and
he is a liar
B. He is a liar and I have nothing to
do with him
C. As he is a liar I have nothing to do
with him
D. I have nothing to do with him
although he is liar

3

Identify the error

He might come today

A. He will come today
B. He may come today
C. It is quite a possibility that he
comes today
D. He must come today

4

Identify the error

This drung works as an antidepressant

A. It is a drug that treats depression
B. It is a drug that cures depression
C. This drug reduces depression
D. This drug is active against
depression

5

Identify the error

It is a long way to Karachi

A. Karachi is situated far away
B. Karachi is not very near
C. One has to travel over long
distance to reach Karachi
D. Karachi is a remote place

6

Identify the error

Let us make a move

A. let us go
B. let us reach there
C. let us leave this place
D. let us leave

7

Identify the error

The revelation that shakespeare wrote certain of his plays expressly for queen
elizabeth i lends credence to the theory that the dark lady of the sonnets was not
shakespeares mistress nor any other woman the playwright had romanced but in fact
the queen herself

A. not shakespeares mistress nor
any other woman the playwright had
romanced
B. neither shakespeares mistress or
any other woman the playwright had
romanced
C. neither shakespeares mistress
nor any other woman the playwright
had romanced
D. not shakespeares mistress or any
other woman the playwright had
romanced
E. not shakespeares mistress neither
any other woman he had romanced

8

Identify the error

Transcendentalism was seen as a somewhat pantheistic philosophy and opposed by
orthodox Christians

A. and opposed by orthodox
christians
B. and orthodox christians opposed
them
C. that orthodox christians opposed it
D. being opposed by orthodox
christians
E. and orthodox christians oppose it

9

Identify the error

A private house in new york city is a building owned by an individual or individuals

A. a building owned by an individual
or individuals having less than eight
units and no commercial space
B. one that an individual or
individuals own with fewer than eight
units and no commercial space
C. a building with fever than eight
units no commercial space and is
owned by an individual or individuals



9 A private house in new york city is a building owned by an individual or individuals
having less than eight units and no commercial space

owned by an individual or individuals
D. one that has fewer than eight
units no commercial space and it is
owned by an individual or individuals
E. on that has fewer than eight units
is owned by an individual or
individuals and has not commercial
space

10

Identify the error

The recent drop in the prime interest rate probably results from the Federal Reserve
Banks tight money policy and its effect on lending institutions rather than to the drop
in the overall rate of inflation

A. its effect on lending institutions
rather than to the drop in the overall
B. its effect on lending institutions as
opposed to the drop in the overall
C. its effect on lending institutions
rather than from the drop in the
overall
D. its effect on lending institutions
rather than from the drop in the
overall
E. the effect on lending institutions
rather than to the drop in the overall

11

Identify the error

The police officers throughout the department were so distrustful of the new
commissioner that they refused to carry out his orders

A. were so distrustful of the new
commissioner that they refused
B. was so distrustful of the new
commissioner that they refused
C. were distrustful of the new
commissioner to such an extent that
they were to refuse
D. were so distrustful of the new
commissioner that they had to refuse
E. were as distrustful of the new
commissioner that they refused

12

Identify the error

The marines who landed on the beaches of Iwo jims effected the rescue of several
prisoners of ware whose assault took the enemy by surprise

A. The marines who landed on the
beaches at Iwo Jima effected the
rescue of several prisoners of ware
whose assault took the enemy by
surprise
B. The marines effected the rescue
of several prisoners of ware who had
landed on the beeches at IWo Jima
and whose assault had taken the
enemy by surprise
C. The marines who landed on the
beaches at IWo Jima effected the
rescue of several prisoners of ware
whose assault had taken the enemy
by surprise.
D. The marines who landed on the
beaches at IWo Jima affected the
rescue of several prisoners of ware
whose assault had taken the enemy
by surprise
E. The marines who landed on the
beaches at IWo Jima and whose
assault took the enemy by surprise
effected the rescue of several
prisoners of war

13

Identify the error

Although the manager agreed to more flexible work schedule he said that it must be
posted on the bulletin board so that both management and labour will know that
everyone is assigned to do

A. he said that it must be posted on
the bulletin board so that both
management and labour will know
what everyone is
B. he said it had to be posted on the
bulletin board so that both
management and labour knows what
everyone is
C. he said that they would have to
post the assignments on the bulletin
board so that management and
labour knew what everyone was
D. he said that the schedule would
have to be posted on the bulletin
board so that both management and
labour would know what everyone
was
E. saying that the schedule had to be
posted on the bulletin board so that
both management and labour would
know what everyone had been

14

Identify the error

I have tried to accommodate you whenever possible

A. I have obliged you
B. I have helped you
C. I have supported you
D. I have supported you
E. I have served you

Identify the error
A. The housemaid stole money
B. The housemaid might have stolen



15

Identify the error

The housemaid made off with the money

B. The housemaid might have stolen
the money
C. The housemaid was accused of
stealing the money
D. The housemaid ran away with the
money

16

Identify the error

She is poor but she is honest

A. she is honest although she is poor
B. she is honest and she is poor
C. she is poor and she is honest
D. she is poor because she is honest

17

Identify the error

He is beyond all doubt the best student of his class

A. certainly
B. perhaps
C. possibly
D. probably

18

Identify the error

She likes you more than me

A. She like you and she likes me
B. she likes you more than she likes
me
C. she likes you better than me
D. she likes you but she likes me as
well

19

Choose the appropriate word

We should abide ---------------- the laws of the country

A. in
B. by
C. to
D. on

20

Choose the appropriate word

I am disgusted ------------------- their be

A. at
B. of
C. with
D. from


